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CHILD DEVELOPMENT AND PEDAGOGY
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Each question has four possible / probable answers. Choose the correct answer
from among them and darken the appropriate circle completely in the OMR Sheet
with Blue / Black ball point pen.

R AeRITRIP 91Q 2L QA FNeEq & AR @4 ?

(A) T8006 BIeQ 2N QS (B) QI 958 e @98
(C) G214 6 35ag 93a G214 Qe (D) dmieig 9Bl §8a BRI Q6o

How is the teacher benefitted by the study of Educational Psychology ?
(A) Increases his content knowledge

(B) Gets social status

(C) Develops judgement and thinking power

(D) Develops the power to understand the educand

9gad g4 Q2 @RI ?

(A) €9a g9 9o 7aq FNG AR A9 F6Q

(B) ¢L% 94§ W@ 20] 58999 A9 Q6a

(C) 2@ g9a AIe 6aIEY 3aq Aaq 219

(D) €9Q gg IRRIS dF8 AcRE Al F6Q

Whatis called an objective type of question ?

(A) Question which measures a specific objective of learning
(B) Question which measures specific topic

(C) Question which has only one specific answer

(D) Question which measures more than one objectives of learning
cg)el Jerllsle @rlee ol CRa JRISE QLR @aIQIRalg ?

(A) Q01 98 (B) 2QcIONS 9NE)
(C) @ue2ae daIsd (D) Q9@ 9184
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SET-A
Which test is mainly used for class promotion ?
(A) Achievementtest (B) Aptitude test
(C) Application test (D) Oraltest

4. T9HNE A626Q 261008 2826m ?

(A) 9.9 (B) @reaie
(C) alqee (D) Jziew
Who classified instructional objectives ?

(A) Bloom (B) Guilford
(C) Galton (D) Piaget

5. 264 9% 948 adie gg 990 @ 661t 6gdia dNinies Adea 92 Ae A6 A1
RECRTEN €9, IR FRAR gI §asl Q28 | 2| g4 9gee cow 6a8aig 9oIa8 ?
(A) €TuaI (B) G4ae1ael
(C) 94e2Ia agelfel (D) <&
A teacher conducted a mathematics test with ten items and applied it on the pupils of the

same class at different times and found that marks scroed by each pupil remain almost

constant. What does this indicate about the characteristic of the test ?
(A) \Validity (B) Reliability
(C) Usability (D) Objectivity

6. <9 N4 NIYIEQ FECEID €RAR FAAS FAUAIQN ?
(A) FRQe 9L (B) dx9le 989
(C) Quacea 434 2a (D) §iN8 acad
Which of the following is regulated in mastery learning ?
(A) Teachingtime (B) Teaching content

(C) Minimum level of learning (D) Objectives of learning

7. ANQIe QAA9ER FQULIAYS! QIS 60Q 9RIQ GRiIae ?
(A) @ogIQe (B) <aiggee
(C) ouegie (D) €E9&Ee
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The test conducted at the time of teaching belongs to what type of evaluation ?
(A) Formative (B) Summative

(C) Placement (D) Diagnostic

8. @64 dga oatiw 100G AIede 904 6 9F coen J40g caa 64416a @If endlaal Of 629 ?

(A) g gefe (B) &4 514 cag

(C) Qo €94 (D) G912 €941

The I. Q. of a child is 100 and his mental age is 6 years. To which class should the child be
admitted ?

(A) Pre-primary (B) Child-care centre

(C) Class-one (D) Class-two

9. ¢AITY ARICR g6 64 948 AR AR A AR AR 9oaYl g9 el | 92l 3619 6RRoe

4oag ?
(A) M8-94E F126q QIRAGY (B) Q@199-4¢9Q 210
(C) <4Eae aIaoe (D) QUeaI8 AIQ 6T gL

An individual responded to a particualr stimulus differently at different times. To which of
the following does it indicate ?

(A) Inter-individual difference (B) Time-stimulus difference
(C) Intra-personal difference (D) None ofthe above
10. 665N g4g 60 63/ AR 1T KA G168 gge AR, 98 GIP 64D acady A
PR, €6ER G121 J99 6aR 997 IOIRAN ?
(A) @RACISS! (B) <g@aa
(C) &TuwI (D) 4eLIQ A0edIFG!
If a question measures the same objective of learning for which it is constructed, then it
indicates which characteristic of the test ?
(A) Reliability (B) Objectivity
(C) Validity (D) Usability

11. 98 630190 0w 29gIg 919 @ @19 298l (period of stress and strain) @211 ?
(A) <Queg (B) 912 @Inuegl
(C) c@caqag (D) c9lgIeg
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What stage of growth and development is called as the ‘period of stress and strain’ ?
(A) Childhood (B) Late-childhood

(C) Adolescence (D) Adulthood

g cIRR IR FJee8 FIeT AdiIEl €a %0106 €RIRLN - Y21 RUCA @4 TV FR2UEM ?
(A) 2eQ (B) dJziew
(C) colenad (D) Qgee

The intellectual development of a child takes place mainly in four stages — who propounded

this theory ?
(A) Skinner (B) Piaget
(C) Kohlberg (D) Rickson

F6S 24 HVR F6E)ID 6PN ATER FQRG 6D AP ?
(A) @cedy-wEe 3919 (B)
(C) dmid-caae dsiQie (D)

@Idi-aae 8ol
WJeQlD dr1g

Which of the following should an ideal teacher emphasize ?

(A) Objective-based teaching (B) Activity-based teaching

(C) Pupil-centred teaching (D) Allofthe above

AIRRIPE-aaINd 94 996 Free eaw @98 O ?

(A) S99 0@ — d84 Q6ady §a @AQ — 94 @l 996 —
(B) 989 0@ —dg 929 998 — 434 @6wdy §a @Al —
(C) 99 #QQl 996 — V8 AcRd §a @AQ — G99 o —
(D) &84 @cady §a 2AQI — 94 @4l 996 — d4 F0e — g4
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Which order is correct in the preparation of a standardised test ?

(A) Selection of topic — Identification of objectives — Blue print preparation — Writing the

questions
(B) Selection of topic — Blue print preparation — Identification of objectives — Writing the
questions
(C) Preparation of Blue print — Identification of objectives — Selection of topic — Writing
the questions
(D) Identification of objectives — Blue print preparation — Writing the questions —

Analysis of questions

(5) (Continued)
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15. Qoo Seaea SSINera ATAUPIRG! 2GR BAER 6RR6 JUHios MR FAUAIRLN ?
(A) cogna (B) QAN
(C) €aber cam (D) 999
Which of the followings is mainly used to study the punctuality of the pupils at the primary
schools ?
(A) Check-list (B) Interview
(C) Rating scale (D) Questionnaire

16. N@-29e ol §60ID 6o 24 2°gL PN ?

(A) AT A2 Q9D (B) ac@lidie Q@ Q0e

(C) <QeQ01w Q2 0@ (D) @ocala AN

Which of the following data is collected for individual case-study ?

(A) Relation with friends (B) Relation with neighbours
(C) Relation with classmates (D) Allofthe above

17. 399 cox 9@0ig Q€I ?

(A) 2Ioadee gaeas 9@l (B) 99192 ax14 9@

(C) 2 gre 929 (D) @ocala AN

Which of the following Process indicates learning ?

(A) Process of behavioural changes (B) Process of qualitative development
(C) Process of practice (D) Allofthe above

18. N4 68G6Q 2NCTQSIQ @Iy @& ?
(A) 28 A[YKH RS (B) Z9adg 95776 209
(C) 2oadg 989 @A (D) @oes A9g
What s the role of motivation in learning ?
(A) Itmakes the behaviour goal directed (B) Itmakes the behaviour systematic
(C) Itactivates the learners behaviour (D) Allofthe above
19. @6dl J9Q QPR LA @4 €QIn ey dPIGER | 964 218 o Q C8E JeIIAR
IOVAR ALILAE €oml | X2 2199 @ Jela S Iaal ?
(A) €@I0AIN (B) €2Q1Q1q&
(C) &aa@e (D) «gae
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Ateacher asked the students about the uses of paper. A child gave 10 to 15 examples of
the practical use of paper. This indicates what type of thought process ?

(A) Divergent (B) Convergent
(C) Controlled (D) Imaginary

20. @99 APAIew FUQ €PRG G014 IR 9YFY gL ?
(A) SR8 9P 19e4T I (B) dIQIG® 0R0gel @ SR8
(C) SR8 gdIge @l ARANAS e (D) GRI8 QuE-6aua 2ee
Which one of the following statement is not applicable for development ?
(A) Developmentis a life long process
(B) Physical maturity is development
(C) Developmentis qualitative as well as quantitative

(D) Developmentisindividual centred

21. 29949 &S diies 81 §Ace & 9968a F2IHRl Aoe ?

(A) Qo7 egdnae (B) <92 2104x¢

(C) or dxQe 988G (D) @oes A9g

What step should be taken for education of under achievers ?

(A) Separate class-room (B) Separate curriculum
(C) Special teaching method (D) Allofthe above

22. “Hitthe Iron when it is hot” — 42| ¢oa 848 G20 ATEQ 2INIAS ?

(A) 996 da9 (B) 2gdae &ae

(C) oRoe (D) QUeaI8 AIQ 6T gL
“Hit the Iron when it is hot” — on which law of learning is it based ?

(A) Law of Readiness (B) Law of Exercise

(C) Law of Effect (D) None ofthe above

23. AQQie 986 98Q cau @06 0 ?
(A) R — MIFIRAE — JIRI@ AV — RIS
(B) 1208 — 99I9e — JIRIe QI8 — ARYSe
(C) geRIe 08 — TR — 68 RI® 92Ie — Jruae
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(D) 9LFRAE — gOF BIe 92IF — FRUSE — SHIEHIBad
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Which sequence is correct from the point of view of teaching method ?

(A) Presentation of the topic— Explanation — Testing of previous knowledge — Evaluation
(B) Presentation of the topic — Introduction — Testing of previous knowledge — Evalution
(C) Testing of previous knowledge — Presentation of the topic — Presentation of new

knowledge — Evaluation

(D)

24. goRIQIe ueIPewa CIIRR ARIS Arce A8 @9 289l Ade ?
(B)
(D)

Presentation of the topic — Presentation of new knowledge — Evaluation — Explanation

(A) FRIQAGPS g4 doIGee 6RRINLIAT 5ef dIn YEIE 6D6e

(C) TeqN8Iae B gealaIde 94 a9aes Qe AFQ
What should a teacher do for the intellectual development of gifted pupils ?
(A)
(B)
(C)
(D)
25. GORIR RUILE FACE CRA0R MR KRN @@ ?

(B)

Ask inquisitive questions
Opportunity for divergent thinking
Ask analytical and application type of questions

All of the above
(A) 92 @I cage
(C) g9de

Which of the following is not used in formative evaluation ?

(A) Home work (B)

chm

(D) <@@ 9QISE

Rating scale

(C) Questionnaire (D) Unittest
26. @IJIEER JVIIe HILIER
(A) dsie1 Q@9 aed (B) 384 2@wae g9
(C) &8 aRuIQes 29 (D) @oes A9g
In an activity based teaching
(A) learnersremain active (B) learning becomes pleasant
(C) learning becomes purposeful (D) Allofthe above
ZR —2A/95 (8) (Continued)



27.

28.

29.

30.

OTET - P-II

gaer @ @& dISl @Rl alQ @6‘ drllgo daild d9e @aeem ?
(A) Q¢ B AN (B) @¢e B oy

(C) 2QeIg @ eaamn (D) Geg Beaamn
Who for the first time prepared two parallel tests for the measurement of intelligence ?
(A) Binetand Simon (B) Binetand Terman
(C) Termanand Merril (D) Binetand Merril
FARES F2lQ 66 534 (projected) 88 gEw ?

(A) ede (B) o0@¢

(C) eam 9 (D) daed

Which one of the following is not a projected aid ?

(A) Map (B) Film

(C) Flannel Board (D) Still picture

i

319 APRIew U €RR0 A8II-cahe AN SYeRl JIal JYFY gew ?

(A) Jgiela dsd @86 219R ATER Qe @22l

(B) J9e dR8-dI9e 9QI96a @19 @ael’E

(C) BPAea dK121a A0dd A0 §eQ 2R

(D) dmiehriewa AN SR8 ATER §oQ @2ULIR2N

Which one of the following statements is not applicable for child-centred education ?
(A) Importance is given on achieving learning sKkills by the pupils

(B) Teacher works as facilitator of learning

(C) Importance is given on the presence of the pupil in the class-room

(D) Importance is given on allround development of the pupil

o olw AN4 0 AdIde QI CaITN GaIE car AN fAZen ?
(A) AR (B) adelaq

(C) Geq (D) cIenQ

Who experimented with a cat to establish his learning theory ?
(A) Paviov (B) Thorndike
(C) Skinner (D) Kohler
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